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�?��Knn<�DO�~DNHI��GDIIkn�MkPKI�HM�sHO�OPlIQ�p^kA@JI�qBrd�mkG�PsK
`GHPHOs�CklMuHn�FDuo�HM�����@� W�JdB=jX�Jd=dB�U@AA�nB�CB=HIBj�UIBCB�dIB
V=_TC@dX�T]�AB=C^BCJ�=CB�B@dIBC�XT>^k�=^jLTC�@^�̂ BBj�T]�JKBH@=A@Jd�J>KKTCd!?
�K�lOKO�PsK�HEDJK�km�PsK� nDMJlDJK�KOuDnDPkG1@�^M�PsK�rDOP<�OPlIKMPO
PQrHuDnnQ�OPDGPKI� nKDGMHMJ�D� mkGKHJM� nDMJlDJK�DO�DIknKOuKMPO�DMI�Ok
tsKM�PsKQ�JkP�MKDG�PsK�Pkr�km�PsK�KOuDnDPkG<�PsKM�EDQFK�PsKQ�tKGK
GKDIQ�mkG��_R�kG��|R?��sKGKDO�Mkt<�HM�EkGK�DMI�EkGK�uklMPGHKO<
rlrHnO�OPDGP�nKDGMHMJ�D�nDMJlDJK�DO�QklMJ�nKDGMKGO�HM�rGHEDGQ�Ouskkn<
Ok�FQ�PsK�PHEK�PsKQ�GKDus�KNKM�PsK�EHIInK�km�PsK� nDMJlDJK�KOuDnDPkG1
PsKHG��MJnHOs�uDM�FK��lHPK�JkkI�DMI�PsKQ�uDM�FK�GKDIQ�mkG�C�^�<�kG
 �_R�mkG�YHIO1�DO�^�uDnn�HP?

�?��sKGK�O�DMkPsKG�GKDOkM�km�uklGOK@�PsDP�nKDGMKGO�sDNK�IHmmKGKMP
HMPKGKOPO}�akP�Dnn�QklG�OPlIKMPO�DGK�HMPKGKOPKI�HM�nDMJlDJKO�kG�DGK
JkHMJ�Pk�FKukEK�mlPlGK��MJnHOs�PKDusKGO�XDnPsklJs�skrKmlnnQ�OkEK
tHnnY?�`lP�PsKQ�EHJsP�FK�HMPKGKOPKI�HM�JKkJGDrsQ<�sHOPkGQ<�OuHKMuK<
EDPsO�KPu?�|O�DM��MJnHOs�PKDusKG<�Qkl�km�uklGOK�DGK�MkP�K�rKuPKI
Pk�oMkt�D�nkP�DFklP�PskOK�kPsKG�OlFvKuPO?�̀ lP�tsDP�Hm�Qkl�FGHMJ�HMPk
PsK�nDMJlDJK�nKOOkMO�OkEK�EDPPKG�DMI�EDPKGHDnO�mGkE�kPsKG�OlFvKuPO
HM�PsK�Ouskkn�ulGGHulnlE�lOHMJ�PsK�PDGJKP�nDMJlDJK{�~k�PsDP<�DMI
Qkl�GK� GKDusHMJ� klP� Pk� Dnn� PsK� nKDGMKGO<� KNKM� PsK� MkM7NKGFDnZ
nHMJlHOPHu�kMKO?

`\a�W\�XYZY[

�? �Knn<�tsDP�tK�NK�FKKM�IHOulOOHMJ�DFkNK� HO�  OkmP�C�^�1<�kG
tsDP�^�uDnn� C�^��nHPK1<�HM�tsHus�OkEK�ulGGHulnDG�PkrHuO�DGK�PDlJsP

HM�PsK�nDMJlDJK�unDOO?��kOP�rGHEDGQ�DMI�OKukMIDGQ�uklGOKFkkoO�Mkt
HMunlIK�C�^�� rDJKO� DMI� DuPHNHPHKO<� mkG� K�DErnK�s>BJJ�GI=dt� mkG
rGHEDGQ�rlrHnO�DMI�pXBJ�uKB^�mkG�OKukMIDGQ�OPlIKMPO?

�? �sKGK�HO�DnOk� sDGI�C�^�1<�tsHus�̂ �uDnn� GKDn�C�^�1@�OlFvKuP7
nKI<�tHPs�ukMPKMP�mGkE�PsK�OlFvKuP�ulGGHulnlE�PDlJsP�HM�PsK�PDGJKP
nDMJlDJK?��m� uklGOK� nDMJlDJK� PKDusKGO� uDM� sKnr� PsKHG� uknnKDJlKO
PKDusHMJ�D�OlFvKuP�HM�D�mkGKHJM�nDMJlDJK�Pk�DIDrP�EDPKGHDnO?��sKGK�DGK
rGDuPHuDn�K�DErnKO� HM�Dhih�WHd@?@d@BJa�W�eBJT>CHB� ]TC�f>n_BHd�=^j
h=^k>=kB� oB=HIBCJ� X�Hp� ~DnK� DMI��kOHK� �DMMKG[� CDEFGHIJK
LMHNKGOHPQ�RGKOO< �����Y �tsHus�HMunlIKO� �HrO�mkG �uGkOO7ulGGHulnDG
ukkrKGDPHkM�FKPtKKM�OlFvKuP�DMI�nDMJlDJK�PKDusKGO1�kM�rGKIHuPHMJ<
KnHuHPHMJ<� OuDmmknIHMJ<� lOHMJ� HMmkGEDPHkM� JDr� DuPHNHPHKO<� KPu? ]
PKusMH�lKO�PsDP�tK�DO�nDMJlDJK�PKDusKGO�lOK<�FlP�PsDP�OlFvKuP�PKDusKGO
EHJsP�MkP?
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